Sr Questions Answers Choice

A. Analytic engine
B. difference engine
C. Napier's Bones
D. Abacus

1 Which is the first calculating device?

A. <span style="color: rgh(71, 66,
93); font-family: Poppins; font-weight:
700;">Disease</span>

B. <span style="color: rgh(71, 66,
93); font-family: Poppins; font-weight:
700;">Bacteria</span>

C. <span style="color: rgb(71, 66,
93); font-family: Poppins; font-weight:
700;">Hardware</span>

D. <span style="color: rgh(71, 66,
93); font-family: Poppins; font-weight:
700;">Computer code</span>

2 Computer Virus is simply a:

3 How many types of buses are in computer?

oow»
A WON

A. <span style="color: rgb(71, 66,
93); font-family: Poppins; font-weight:
700;">quantum computation</span>
B. <div class="watupro-question-
choice " dir="auto" style="box-sizing:
border-box; width: 1090px; line-
height: normal; color: rgb(71, 66, 93);
font-family: Poppins; margin-top:
0.438em !limportant; margin-bottom:
0.438em !limportant;"><label
for="answer-id-4763" id="answer-
label-4763" class=" answer"
style="box-sizing: border-box; display:
inline-block; max-width: calc(100% -
2.25em); margin: Opx; font-weight:
700; padding: Opx; cursor: pointer;
width: auto; vertical-align: text-top;">
<span style="box-sizing: border-
box;">artificial intelligence</span>
</label></div>

C. <div class="watupro-question-
choice " dir="auto" style="box-sizing:
border-box; width: 1090px; line-
height: normal; color: rgb(71, 66, 93);
font-family: Poppins; margin-top:
0.438em limportant; margin-bottom:
0.438em limportant;"><span
style="font-weight: 700;">nano
technology</span></div>

D. <span style="color: rgb(71, 66,
93); font-family: Poppins; font-weight:
700;">hybrid computers</span>

4 Fifth generation computing devices based on:

A. <span style="color: rgb(71, 66,
93); font-family: Poppins; font-weight:
700;">31/2"</span>
B. <span style="color: rgb(71, 66,
93); font-family: Poppins; font-weight:
700;">41/2"</span>

5 What is the size of a standard floppy disc? C. <span stylej‘color: rgb(71, 66,
93); font-family: Poppins; font-weight:
700;">59/2"</span>

D. <span style="color: rgb(71, 66,
93); font-family: Poppins; font-weight:
700;">1/2"</span>



